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= Year 9/10         = TRIGONOMETRY          = Worksheet 5
	1. A bushwalker is 12.5 km S40(W of her starting point O. How far to the west (in km to one decimal place) is her position from the starting point?

	2. Refer to Q1. The bushwalker travels further for 3.5 hours and her new position is 5.0 km S50(E of her starting point O. Calculate the magnitude (in km to one decimal place) and direction of her displacement during the 3.5 hours.
    

	3. Find the vertex angle (nearest degree) of a right circular cone of radius 2.0 cm and height 5.0 cm.

	[image: image8.png]4. A ray of light AB is directed at mirror DE and the reflected ray is BC. Calculate ( (to the nearest degree).
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                10 cm                                         15 cm
                                                 (
                       E                 B                      D

                                         30 cm

	5. Calculate (  (to the nearest degree).


                          (         16
                      12 


                                          6
	6. Calculate x to one decimal place.

                                           x cm

                             37(                     53(
                                                         13.5 cm


	7. Use the following triangle to evaluate 
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	8. Use the triangle in Q7 to find 
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	9. 
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	10. Simplify 
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	11. Evaluate 
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	Numerical, algebraic and worded answers.



1.  8.0


2.  13.5, N61.8(E


3.  44(


4.  40(


5.  19(


6.  22.4


7.  1


8.  b/c, b/c


9.  60(


10.  1/7


11.  1
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